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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A2 SHUHERSAE £ 250,000 250,000 0
403 XSS A=0l& 250,000 250,000 0
01 X SHMA=2E X 250,000 250,000 0
Ol s8E FSAE & 250,000
HEssSHH R2SAY 420,000 480,000 A 60,000
J| 350,000
< 70,000
403 UtXISHE X201 E 420,000 480,000 A 60,000
J| 350,000
< 70,000
01 X SHHA2E = 420,000 480,000 260,000
ON2=SHA FEAE 420,000
J| 350,000
= 70,000
SHHEREANE X N& 136,850 92,000 44,850
403 MHXISHH S A2 0l 136,850 92,000 44,850
01 X HHMA=ZLE L 136,850 92,000 44,850
OSFA & IHERSAE XA 11,850
O2dENd=sT et 8% £X 15,000
OFd 25 sg&&1 4 30,000
OZd 28 Q& M2MEl £X 15,000
O29 BsH 8328 s¢2 A 243
A& 15,000
O & H2M&E XX 50,000
=20l FYOH X A 2,444,600 0 2,444,600
308 AAIEHHSOIA 2,444,600 0 2,444,600
01 HXNHHBHELS 2,444,600 0 2,444,600
Osgo BEE X ALY 2,444,600
NG He &8st 7,000 10,000 A 3,000
307 glz2tol & 7,000 10,000 A 3,000
02 RIZHENEXS 7,000 10,000 A 3,000
oXgaiel &8s, s, 24 N2 7,000
GAPAIE B&AtY 216,000 146,000 70,000
= 180,000
< 36,000
403 X SHSXH=0lH 216,000 146,000 70,000
= 180,000
< 36,000
01 XS M A=2EE 216,000 146,000 70,000
OGAP Al&d 2 2tAtY 216,000
= 180,000
< 36,000
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AT BIE DEE s42 ¥ES
CANRNEE RERE R

Ho
0x

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
GAPCI =S =Dt o+ A ZAHl I 201,450 201,450
= 178,500
= 22,950
308 XAHXIEHH SOl 201,450 201,450
2 178,500
< 22,950
01 IXNHHBNEES 201,450 201,450
OGAPRI S =0t ot ZAHl X & 201,450
= 178,500
= 22,950
Al E NS AS 67,000 67,000
2 47,000
< 20,000
307 21201 A 67,000 67,000
= 47,000
< 20,000
02 P AEXRS 67,000 67,000
Oalde s A 67,000
2 47,000
< 20,000
s E STHAE SALA of 2/ X 0H2 14,400 14,400
308 A EHHSOIA 14,400 14,400
01 HXNHHNBHELS 14,400 14,400
s=ME THAE SALAL off 208X 0H2 14,400
AHIRGHEH gAY 18,000 18,000
= 9,000
< 9,000
307 glz2tol & 18,000 18,000
2 9,000
< 9,000
02 QItFAE XS 18,000 18,000
OAHIX s ¥ 88 S 18,000
= 9,000
< 9,000
So=ZEI A 2 EEXR 40,000 40,000
= 20,000
< 20,000
307 21201 A 40,000 40,000
= 20,000
< 20,000
02 QB AEXS 40,000 40,000
ORcl=2H3 A L 88 N 40,000
= 20,000
= 20,000
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AN HUSSASL
M AHIX 2HE DSE setE 2358

ot A =4
S AENEE RFS2E A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AXNZES &AM Y EEXEA 20,000 0 20,000
= 10,000
< 10,000
307 glz2tol & 20,000 0 20,000
= 10,000
< 10,000
02 QItFAE XS 20,000 0 20,000
OZXNESEs A L sEXRE 20,000
= 10,000
= 10,000
A d8F 2= & 2212 26,000 0 26,000
= 20,000
< 6,000
308 XtXIEHH SOl A 26,000 0 26,000
= 20,000
< 6,000
01 AXHHILEES 26,000 0 26,000
OXd dsx= = 2 22X 26,000
= 20,000
< 6,000
NS 2d¥oles =28 I & 1,913,899 857,899 1,056,000
= 800,000
< 1,113,899
=UHe ZHASHEE &t 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZHHAIE £ = 40,000 40,000 0
O=U -2 S HASHES &It 40,000
SAS HAAMZHAE IHA 123,000 97,000 26,000
202 Odl 8,000 8,000 0
03 =220l 8,000 8,000 0
O32& 220l 8,000
301 et A= 35,000 29,000 6,000
06 212toI= 2l 04l 35,000 29,000 6,000
OHAAZHHE HIHH &S 35,000
403 A X EHHS 20l A 80,000 60,000 20,000
02 S| 2SO0l CHEHCH & Ar B 80,000 60,000 20,000
O=sAE oHAABIMNH OHA 80,000
tEdsitE =574l N& 275,000 275,000 0
308 XX EHSOIA 275,000 275,000 0
01 HIXNHHNBNEELS 275,000 275,000 0
Ol sdtE =2 FHl N& 275,000




2N HllsSA

|
M AHIXE EFf N3E st 83 54
S MAA BHols === I FH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
sdtE =501 4 302,400 302,400 0
403 XSS A=0l& 302,400 302,400 0
01 X SHMA=2E X 302,400 302,400 0
Osdte =1l 84 302,400
T=ESHE JIIS3E ALEUS 60,000 60,000 0
403 MtXISHE X201 & 60,000 60,000 0
01 XM A=2EE 60,000 60,000 0
Ox=&sttE IIE23F ANEs8Us 60,000
sE==AE ZZW A XA 73,499 73,499 0
308 XX EHH SOl A 73,499 73,499 0
01 X HHIBLEXS 73,499 73,499 0
O+&=sA8 TN ME X2 73,499
NS ASLY SEHAY 1,040,000 0 1,040,000
= 800,000
< 240,000
403 UHXSHHSA=0l& 1,040,000 0 1,040,000
= 800,000
< 240,000
01 REXIEHH At 1,040,000 0 1,040,000
OXgHe AFLY SHAY 1,040,000
= 800,000
< 240,000
JIgE NAESA=ZS S8 84 16,083,834 18,709,629 A 2,625,795
= 3,213,429
J| 6,072,400
< 6,798,005
= DSE MAAIE SUHSRR 1,493,500 2,370,750 AB77,250
J| 1,030,000
< 463,500
403 X SHHE =0l & 1,493,500 2,370,750 AB77,250
J| 1,030,000
< 463,500
01 HIXSHHMA=2EE 1,493,500 2,370,750 AB77,250
Ot NSE AMESUaAY 1,493,500
J| 1,030,000
< 463,500
DAMBHAMCR JIBFELHALS 2,561,775 3,036,675 A 474,900
J| 2,382,000
< 179,775
403 Ut ES X201 & 2,561,775 3,036,675 A 474,900
J| 2,382,000
< 179,775
01 X EHHMA=LE L 2,561,775 3,036,675 A 474,900
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OMNANSMAST JIBFEHAIS 2,561,775
Jl 2,382,000
= 179,775
WA AMHMESAH KR 90,000 67,500 22,500
308 MXISHMSOIA 90,000 67,500 22,500
01 MIXHHINMNEEXTZ 90,000 67,500 22,500
OlA MAEE SAM X 90,000
U =282 MAAH A& 500,000 500,000 0
403 XX SHHM S X201 A 500,000 500,000 0
01 XS A=2E X 500,000 500,000 0
Ot “S&EE2F MAXYH & 500,000
W Sl XS LXAE X2 54,000 54,000 0
403 XX SHHS K20 & 54,000 54,000 0
01 XIS AZ2E X 54,000 54,000 0
Oxd olx UIAE X 54,000
MAH= EGAPR 4 3,000,000 0 3,000,000
403 XX SHHS K2 0| & 3,000,000 0 3,000,000
01 XIS A=Z2E X 3,000,000 0 3,000,000
OMI = ENFE 4 3,000,000
AE20 HUHXOIS(EZAIE) 223 AIY 765,262 727,856 37,406
= 765,262
403 XX S M S K201 A 765,262 727,856 37,406
= 765,262
01 XS RS2 X 765,262 727,856 37,406
OANE20 HUXIolE2 sSaH(B2AAE) 765,262
= 765,262
AMEK0 UHXIOIS(XELE) SE3F AFY 2,395,086 473,808 1,921,278
= 2,395,086
403 XX SHHS K20 & 2,395,086 473,808 1,921,278
= 2,395,086
01 XIS A2 X 2,395,086 473,808 1,921,278
OAIEL0 KXol a83H(XgLte) 2,395,086
= 2,395,086
AMNERW HXOIES(SHEE) 883 AHY 53,081 45,000 8,081
= 53,081
403 XX SHS K20 & 53,081 45,000 8,081
= 53,081
01 XIS A=Z2E X 53,081 45,000 8,081
OAIZ&0 oidXole as2sHSHER) 53,081
= 53,081
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X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANEJMH SEHA 2,561,250 2,732,000 A 170,750
J| 1,965,000
< 596,250
403 XSS A=0l& 2,561,250 2,732,000 A 170,750
J| 1,965,000
< 596,250
01 XM AZ2E X 2,561,250 2,732,000 A 170,750
Oger M R2EHR 1,921,250
J| 1,325,000
= 596,250
OHIJIE Al E 640,000
J| 640,000
Ol At MAL S SAIE SUHSAS 444,000 0 444,000
J| 315,000
= 129,000
403 UHXSHHSA=0l& 444,000 0 444,000
J| 315,000
< 129,000
01 X SHMA2E X 444,000 0 444,000
Ocly Mo RSAE Sls 444,000
J| 315,000
< 129,000
HAAE SUSAS 246,500 0 246,500
J| 170,000
< 76,500
403 MtXISHHE X201 & 246,500 0 246,500
J| 170,000
< 76,500
01 AXSHMA=2EE 246,500 0 246,500
OHA AIZS s X3AS 246,500
J| 170,000
< 76,500
olat LIMaHAIE 23 232,000 0 232,000
J| 160,000
< 72,000
403 A X EHHS =0l A 232,000 0 232,000
J| 160,000
= 72,000
01 X EHHMA=E L 232,000 0 232,000
Oola UWIHahAld 22X~ 232,000
J| 160,000
< 72,000
ANHES A= E4d 400,000 400,000 0
403 X SHHSA=0l& 400,000 400,000 0
01 HXSHMA2E X 400,000 400,000 0




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXNEEsAS 54 400,000
SEE BUMLAALE B2 300,000 450,000 A 150,000
403 MHXISHE X201 & 300,000 450,000 A 150,000
01 X SHHAN2E = 300,000 450,000 A 150,000
OUEZE JAWMLAE 25 300,000
ola SIIH = 90,000 90,000 0
403 A X EHHSH=0IA 90,000 90,000 0
01 X EHHMA=2LE L 90,000 90,000 0
Oola sJI1H 33 90,000
ol XIFASAH 2= 58,500 48,000 10,500
308 XX EHSOIA 58,500 48,000 10,500
01 HXNHHNBHNEES 58,500 48,000 10,500
ooy NASTH = 58,500
ol SHEXIAIAE &AX X2 42,000 105,000 A 63,000
403 MHXISHHE X201 E 42,000 105,000 A 63,000
01 AXSHMA=2EE 42,000 105,000 A 63,000
Oolsr ZHEXAIAY AXXA 42,000
DEE WX LAY 420,000 420,000 0
403 XIS E X201 & 420,000 420,000 0
01 AXSHMA2E = 420,000 420,000 0
ONSE ==Xl Z&AY 420,000
=2 HIJIEAIE X& 40,000 40,000 0
403 MHXSHHSA=0l& 40,000 40,000 0
01 HXSHMA=E X 40,000 40,000 0
O84d =% HIJtd 2=Al4 XA 40,000
LFNUE MA2RSAE X 38,880 19,440 19,440
J| 32,400
< 6,480
403 Ut SHHS =0l & 38,880 19,440 19,440
J| 32,400
< 6,480
01 XM A2EE 38,880 19,440 19,440
OLFLE M2RSAE N 38,880
J| 32,400
< 6,480
HIEOSASX AEXRE A 50,000 0 50,000
403 XIS E =01 50,000 0 50,000
01 X SHHAN2E=x 50,000 0 50,000
O AIZGtSACHX AMEXI3ALS 50,000




AN HUSSASL

M AHIX 2HE DSE s¢tE 2358 24

el D1 E XIC;\%E&% =8 84 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
oA SEEL BIAEE XI& 150,000 0 150,000
308 AHXIEHH SOl 150,000 0 150,000
01 HIXNHHBNEES 150,000 0 150,000
Ot S BIANES K& 150,000
=048 BE3 ALY 80,000 0 80,000
308 XXIEHHSOIA 80,000 0 80,000
01 IXNSHHBNEES 80,000 0 80,000
Os=2d 33t At Y 80,000
SAS ICT 858 ot A Y 18,000 0 18,000
J| 18,000
403 A X EHHS =0l A 18,000 0 18,000
J| 18,000
01 X SHHA2E= 18,000 0 18,000
OsAlE ICT 858 =4t AtY 18,000
J| 18,000
d= 05 T3 MAEBHE 54 1,009,060 4,924,530 A 3,915,470
= 578,000
< 431,060
ISEH BHE 54 67,500 4,786,208 A4,718,708
= 45,000
< 22,500
308 A EHHSOIA 67,500 97,500 230,000
= 45,000
< 22,500
01 AXNSGHBLEES 67,500 97,500 30,000
OLNEZE & BgE s4(us - 88 248) 67,500
= 45,000
< 22,500
RPC 2E=MEBAE B4 504,560 0 504,560
= 476,000
< 28,560
403 MtXISHH S =0l & 504,560 0 504,560
= 476,000
= 28,560
01 XS M A=2EE 504,560 0 504,560
ORPC HH X . MEBANE S& 504,560
= 476,000
< 28,560
RPC HHOHZ Xt3 Ol X2 & 80,000 80,000 0
308 XtXIEHHSOIA 80,000 80,000 0
01 AXHHILEES 80,000 80,000 0
ORPCH OHL X2 OIMHEA 80,000




2N RHRSAED
BB AHK OE DEE SN2 ¥EH 54
Cel: M3 O% YE NIYSYE |4 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HEAdF AL 57,000 58,322 N 1,322
= 57,000
201 LBt | 9,578 9,400 178
= 9,578
01 AP 22| H| 9,578 9,400 178
OxF e 89| 7,000
= 7,000
OYX™ 22 22| 2,578
= 2,578
202 04| 16,000 16,000 0
= 16,000
01 2L HI 16,000 16,000 0]
oz g4 16,000
= 16,000
308 MXISHHMSOIA 31,422 31,422 0
= 31,422
01 HXHHIMNEXS 31,422 31,422 0
OFEA2R| XA (12AI2) 31,422
= 31,422
HUA NS XA 300,000 0 300,000
403 XX ESHHS K20 & 300,000 0 300,000
01 AIXSHHMA2E X 300,000 0 300,000
OdLA XAt XSAS 300,000
HHSHAH (FURESAE) 44 016 41,265 2,751
JlE&dl 44,016 41,265 2,751
Jl2 &4l 44,016 41,265 2,751
201 et d| 13,776 12,915 861
01 AFR 2t 2| H| 13,776 12,915 861
OJlgfx=Zl 5,792
[OPIE==2=1l 7,984
202 044l 30,240 28,350 1,890
01 2L Y| 30,240 28,350 1,890
OJI2 0| 30,240




